EMRS JSA Question Paper 2023

JSA-2 3]
023/D7 (2) L%
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Teh &WAT/Reasoning Ability

1. SEfi A L K, D, B3R G U 99 @ 0 1 3 7% 33 F | A, G 3 a0l a0 g0 o o 3 2 3
‘@, K & 7l 7 S wH W AR | B 'G’aaaﬁiwiéa% | G ST T B 43T ?
1) L (2) K fa?») D 4) A
Six friends A, L, K, D, B and G are sitting on h%bench facing towards North. ‘A’ is sitting second to
the left of ‘G’ and ‘G’ is sitting fourth to the rigt of ‘K. ‘B’ is sitting to the immediate right of ‘G’.

Who is sitting at the extreme left end ? '4:
(1) L (2) K 3 D 4) A

2. faue siive 1 o s i s e w1 IR AR | sre-ste @et § 4 T de sTe-oten s
S et safthal e et ] |

AA g

O

~

€0

0

St M~

FH-Y-FT a1 TG e aret safewa i dea ﬁﬁ:ﬁ%’
(1) 22 (2) 17 3) 25 (4) 14

Study the given diagram carefully and answer the question. The number in different sections
indicates the number of persons who speak different languages.

Q™
(N

A
o)
(|
o0
\O
English ™
What is the number of persons who speak at leds} two languages ?
— @ 17 #3) 25 @ 14
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31 o, ST (A) ST RO (R) 3 0 3 rwifeer o e & | A el s ST afg S g2 i wmmm
4 wE IW T |
YT (A) - TATIH ATEAT & FEIATS I ST AT ST 2 |

FRU(R) : ﬁ%mwﬁw%aﬁmm&

N
(1) (A) JHGF R, Afed (R) T8 | 0

(2) (A) 3R (R) I T &, AR (R), (A)sﬁruaﬁw#r%l
(3) (A) TR, AR (R) AT | 2
4) (A) 3 (R) I a7 AT (R), (A) ) gt AT R |

Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : Use of electric vehicles is being promoted.

Reason (R):  Electric vehicles are more environment friendly.

(1) (A)is false, but (R) is true.

(2) Both (A) and R) are true, but (R) is not the correct explanation of (A).
(8) (A)is true, but (R) is false.

(4) Both (A) and (R) are true and (R) is the eorre‘g( explanation of (A).

a‘rm,aqﬁﬁmm)aﬁtm(m%wﬁmmfgﬁm%laﬁmﬁﬁmﬂu@mﬁuﬂt@ﬁm
H HE I I | :f_l

STfireA (A) : TS 26 S Bl T foer AT E |

R (R) : 2eaﬁﬁ1947ﬁmﬁﬁnwﬁ$$§am

(1) (A) G R, AR (R) TR

(2) (A) 3 (R) 3H! TeF &, AR (R), (A) I Ot AT 7T 2 |

(3) (A)EH e, A (R) AR

(4) (A) 3T (R) SHI & & A1 (R), (A) % GEl AT B |

Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : We celebrate Republic Day on 26" January every year.
Reason (R): India became free from British rt{lii on 260 January, 1947.

(1) (A)is false, but (R) is true. i~
(2) Both (A) and (R) are true, but (R) is not the @rrect explanation of (A).
(3) (A)is true, but (R) is false. ““'

(4) Both (A) and (R) are true and (R) is the corrwt explanation of (A).
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5.

(4) nvta

7.
% e o, Rz, @, Zamm, W it R uw @edfsen sama fi semsgem d@fed wowe
2 | =T T S arelt wifvrer 7 TE @ & | W i nfirer S Fae o fim wd # | ez e F 4
et A it T @ | Zarre 3R st o sttt ¥ ofte et s war 2 |

T el e R A 2 3

(1) frg 2) W (3 am (4) Tz
Six friends Arunesh, Jitendra, Charu, Beévansh, Pradeep and Kitu live on different floors of a

six-floor building. Charu does not live on rﬁ'fe top floor. Only three friends live above Pradeep’s floor.

Only four friends live below Jitendra’s floox. Only Arunesh lives between the floors of Devansh and
Pradeep. 1

Who lives on the top floor ?

(1) Kitu (2) Pradeep (3) Devansh (4) Jitendra

I T e % A @ e 1 S 1T ek e S afed R e # | e 98 7 e @ R e
YA T T IA 3 F fow gaieq 2/2 | 3Ht svemt =01 afen oiv sfa sweaa Hifv

Ush %2 AT 3 ‘beautiful’ 1 HE FTR 2

FY

I 36l W97 H, ‘She is beautiful’ #1 ‘TaRe Na’ fer@rsmar & |
. 34 kT4 Wﬁ, ‘Red beautiful flower’ 3@3‘8& Ge Ta’ for@r ST 2 1
(98]
(1) ma‘rmnﬁﬁmmnaﬁma}%méﬁ%@m%l
(2) U 11 3Rt € ST ol L < R YaITeet R Sfeifeh sher I 31ehet Tafeel e 2 |
(3) ST e 1 37 11 Uk w1y firersht W o1 Fe o o forq ammaeah € |
(4) A T 1K & T o1 T A o T @, SHefieh e 11 ekt T e 8 |

Given below is a question followed by two statements numbered I and II, each containing some
information. You have to decide which of the statements is/are sufficient to answer the question.
Read both the statements and decide the appropriate answer.

What is the code for ‘beautiful’ in a certain code language ?

Statements : o - ’

I. In the same code language, ‘She is beautiful’ is written as ‘Ta Re Na’.

Ii In the same code language, ‘Red beautiful flower’ is written as ‘Sa Ge Ta’.

' N
[ o NI B .

(1) Either statement I alone or statement;f_‘] alone is sufficient to answer the question.

(2) Statement II alone is sufficient to t_'gmswer the question, while statement I alone is not
sufficient. A '

(3) Both statements I and II together are mecessary to answer the question.

(4) Statement I alone is sufficient to *g‘swe" the question, while statement I alone is not
gufficient.

e e
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(5
aﬁ%@mﬁsaﬁa’rWIaﬁtumgﬁfmrﬂn%aﬁmﬂﬂ%l-m%wm%%
aﬁ:r-m@'—r-ﬁmmwwéﬁ%gméﬁiﬁﬁmaﬁw%qaﬂtaﬁlamwaﬁr&ml

e &t w2 2
he

L o erts ST 198t o s & 12972 10
I 118F# waaT8Fae|

4

7368

(1) AT 1 3T A 11 STl S 1 I e 3 T
(2) YA 11373t 8 WY 31 3T 27 B T & Sk Ho 1 Il T e € |
(3) ST e I 9 11 U Er et S T 3T 3 3 for reresh € |

(4) U1 TS B WO ol I 3 2 TR & STeIfeh o 11 STkl wI T ¢ |

Given below is a question followed by two statements numbered I and II, each containing some

information. You have to decide which of the statements is/are sufficient to answer the question.

Read both the statements and decide the appm{g‘iate answer.

What is the number of ‘students in the class ? co

736

Statements :
. Rank of Chetan is 19* from the top and 1‘.‘11}‘ from the last.

I 11 students got lower rank than Chetan.

(1) Either statement I alone or statement II alone is sufficient to answer the question.
(2) Statement II alone is sufficient to answer the question while statement I alone is not

sufficient.
re necessary to answer the question.

(3) Both statements I and II together a
question while statement IT alone is not

(4) Statement I alone is sufficient to ansifpr the
(w8}
(Vo]

sufficient.
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(6) T‘P&g
faw e w7 3 e o ofit swh ST 3 qEuROMd | o 11 € ¥ | st R o e 2 R qemome A
F-d/ER-Y Fa d Afka 22|

e . IPL W garatt & sfir sl eehfsa & | :g)
JHIROT - .
I WA aftss et 1 IPL ghe @i 2 | g
I oft R gar IPL A9 e e e &1 i~
el
)
(D) I3RIISH fAfRa s (2) shaa 11 fAfea
(3) FarrafnffRaz) (4) aa | Ffea )

The given question consists of a statement, followed by two assumptions numbered
I and II. You have to decide which of the assumptions is/are implicit in the statement.

Statement : IPL is popular among the Indian youths.

Assumptions :
1. Indian senior citizens do not like IPL. <
II. All Indian youth like to watch IPL matchesf"'g
o
(1) Both I and II are implicit. f@) Only I is implicit.
(3) Neither I nor II is implicit. @) Only I is implicit.

T 1 o e Wi, o, 37egel, IIGR, FOTer S 399 & | <ffeh Thet % s et e e 2, gufen v
Ryeres =5t aTe 3 o R 3 20 Gt B e R 3 fore ek R e v e & | < 1 v v
2 | aysza, THE ¥ TS B foT il Wt T HET oA § | WI YRR H et T FT A ¥ 39N e qeran @
B S & | S U PR T e e B AT Y & | 230 P Rt et o e e € 2

(1) wfHEr (2) WA (3) qHaR (4) EFIR

There are six teachers in a school, viz. Bhanu, Raghav, Abdul, Shekhar, Kunal and Devesh. Since
there is no games teacher in the school, each ofthe teachers is allocated one day for taking games
class during six days of the week. There is no cﬁﬁ on Sunday. Abdul takes the games class on the
very next day to that of Raghav. Bhanu takes (khe games class on Friday and Shekhar takes the
games class on Wednesday. Kunal takes the gm’fﬁs class one day after Shekhar. On which day does
Devesh take the games class ? P

. - Mond
(1) Saturday (2) Tuesday 9} Wednsacay W P

T w4 % fro srg / SPACE FOR ROUGH WORK
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<@ v i, 3 T Ay

Fremd | ok 11 fu o # | fu o FET F A o gmn e B S Eea
foeeped FAfoea SU @ g 8|
FYA G<L£Q,W=T;Q =}

. I G<T o

II. W>L m}
Hﬁ[ﬁm : ":'
(1) ara 13 s 1o = (2) ¥t T
(3) fswd [ afit 11 St wer | ¥ @) Fsafrdiaa?)
In this question, two statements are

followed by two conclusions, numbered I and II. Find out which

conclusion(s) is/are definitely true, based on the given statements.

Statement : G <L<Q, W=T>Q
Conclusions : 1. G<T
II. w> L
Choose the correct option :
(1) Either conclusion I or conclusion II is true.

(2) Only conclusion II is true.
(3) Both conclusions I and II are true.

(4) Only conclusion I is true.
%amﬁmﬂﬁwnm%a%ﬁgm,ﬁw%aﬁm
%ﬁg%aﬁm@mmaﬁqé&ﬁa%? o

L0
(1) fom= (2) =
Six friends Vinay, Kapil, Suman, Mukul, N
from the centre. Mukul is sitting third to th
of Vinay. Only Naina is sitting between

%%Wﬁﬁﬂgﬁﬁ%%%lg@.m
o3t R | e o o F Fe e A 2

1 @3) T (4)
aina and David are sitting around
edeft of Vinay and Suman is sitting

HAT

2

a circle facing away

to the immediate left
David and Vinay. Who is sitting second to the right of
David ?
(1) Vinay (2) Kapil (3) Mukul () Bugiss
T H, A e o a1 e 1S e e R ) fa e st % stew or v ormse B S
Fr fafoaa sr g wea 22
FH: D>B>W, Y>W>M
L BzM
I. M<D
D) 24t Frerd 1o ferd 1T a2 1 “(2) Fad end ey
@) oot 1 3 11 ST wea | £ (@) et Frerd 1w R

In thig question, two statements are fclluwed’%)y two conclusions, numbered I and II. Find out which
¢onclusion(s) is/are definitely true, based on i‘.hp given statements.

Statement : D > B > W, Y>W>M r‘. .
Conclusions : 1. B>M %
II.M<D

(1) Either conclusion I or conclusion I1 is true. (2) Only conclusion ] is true.

3) Both conclusions I and II are true. (4)  Only conclusion 1 is true.
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2]
13. ﬁqmaﬁewwmqﬁwaﬁﬁmﬁt%wwaﬁmﬁﬁlﬁwﬁﬁﬁ@ﬁwmmﬁﬁﬁm
wﬁ%ﬁ%ﬁeﬁwﬁuﬁﬁﬁﬁrﬁ,wﬁmaﬁwﬁmﬁm%ﬁmmmﬁﬁl

wfeeht
) -
. 3
N
€0
5 W
2\ 4 A
/ 6\ 1p ) T fgm "
9
T
E&;Tﬁﬁﬁ@nﬁmﬁ%ﬁ%ﬁiﬂﬁ\ﬁaﬂtwﬁwﬁfrﬁm%ﬁmmmﬁm%ﬁﬁmﬂf&mﬁ
1) 6 (2 4 (3)-12 4) 2

Study the given diagram carefully and angw

Stu T the question. The numbers in different sections

indicate the number of students who have red more than 70% in three subjects Physics

Chemistry and Mathematics, ve) , ,
e}

™M

M

H

Physics

15 k

5

L/ [\ ¢
6 \12 /Chemistry
9
Mathematics

What is the number of students who have score%‘more th i

: an 70% in b ; :
08 i Mathosnatios? ) o~ o oth Physics and Chemistry, but
1) 6

.t
(2) 4 qu:.;) 12

T T % forg worg sp}ﬁbe FOR ROUGH WoORK
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‘A+B #FAAR ‘A, B Ut |
‘A—B FAER ‘A B FfUare|
‘AxB FAHER A B HFEL -
‘A:B ®AFR A BRTEAY w

J ~
IIF F AR W AR T+ VxQ+S+M-F, a‘rm@T’ﬁrmmmﬁm%?
(1) foar e (2) wishrat @ Tt 31 |1 (4) o 3 foan
‘A + B’ means ‘A is the wife of B’. ;

‘A — B’ means ‘A is the father of B’

‘A x B’ means ‘A is the brother of B'.

‘A = B’ means ‘A is the daughter of B’.

Based on the above, if T + V x Q + S+ M — I, then how is ‘M’ related to ‘T" ?

(1) Father’s brother  (2) Mother’s mother  (3) Mother’s brother (4) Father’s father

aﬁ?r?rmﬁmﬁaﬁﬁaﬁmaﬁmaﬂwmqﬁmﬁaﬁwﬂﬁqa&g@aﬂwmwaﬁﬁmmﬁ
n‘gwaﬁtskmawmﬁﬁmﬁ@wﬁaﬁﬂ%mﬁmﬁﬁmﬁﬁww@m 10 km I g &

e oTeR T T | 3 S S e vt 2 gt P 22

(1) 13km (2) 12km @ 14 km (4) 10 km

Arpit started from his office and travelled 2 km@wards west, then he turned right and travelled
2 km and then turned left and travelled 3 km. Frpm there he took a bus which travelled straight
towards north and he travelled 10 km by this pus and reached his home. What is the shortest

distance between his home and office ? H

(1) 13km (2) 12km (% 14 km (4) 10 km
gﬁqﬂrﬁafr(gsmm%rgq,@gmﬁm, g Bl 91 3 Frer ) gl A B |

T2 o e & 3 it & 2

(1) e e arg (2) % (3) Hf 1 WTE (4) T ‘
Pointing to Sushmita, a man said, ‘She is the only daughter of my daughter’s paternal grandmother.
How is that man related to Sushmita ?

(1) Fathers brother  (2) Brother (3) Mother’s brother ~ (4) Father
@@gmﬁmg,ﬂmﬁmﬁwg | @w' : ﬁﬂz%mﬁwﬁq@iw%mmﬁaﬁr
ﬂﬁlaﬁéw.@ﬁﬁnaq@ﬁ,ﬁmmg@m%nﬁm? g

(1) 3IW (2) ufgem () e 4) T

Bhaskar noted that Raghav's shadow

| ; lking ih the park. :
t Bhaskar while w2 £ [{:‘1 which direction was Raghav facing ?

One morning Raghav me ;
was exactly to the left of Raghav. If they were facipg each other, .
(3) South (4) East

(1) North (2) West

1 & & feg e / SPACE FOR ROUGH WORK
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18.  Fr=feraa dear saen i wemamee g (2) 3 T W T ST =R 2
13, 27, 83, 335, ?
(1) 1128 (2) 672 (3) 1679 ‘ (4) 548

What should come in the place of question mark (?) in the following number series ?
13, 27, 83, 335, ?

(1) 1128 (2) 672 &3 1679 (4) 548

19. il sver sho ot 2t it A fro e v e v
@ P,T,$,4,QR, GP,QN,D,FLHRF A NG |
aﬁﬁqwmﬁmﬁw,mmmmﬂgﬁmmwﬁwm%,fﬁa?l:r-mmaii’ﬁt
ﬁﬁaﬂﬁm%wwaﬁwmm? H

1 Q (2) s 3 T 4 R
Refer to the following letter sequence and answer the question given below :
(Left) P, T, S,A, Q, R, G, P, Q, N,D,F,L,H,R,F,A N (Right)

If every third letter in the given sequence is re
which letter will come second to the right of the fifteenth letter from the right end ?

1 Q (2) S (3 T 4 R
20. 36 9 H, A7 o fiw e ¥, Rrek are @) frses 1 A Rume | w1y

placed by its next letter in the English alphabet,

I WA BY, W € g
Mﬂﬁq%ﬁ%ﬁ,%%ﬁsaﬁmmﬁﬁq{fﬁw&,mﬁmmﬁmﬁwﬁwm%ﬁ{%%|
. i ERag o Tt Rad | o Wft faety swer ¥
Freef - - .
L oft#rsugr i
I ¥R H

(1) e 1 3t 11 x|
(8) a1 T 11 argeror T ¥ |

In this question, three statements are given,
Assuming the statements to be true, even if they
decide which of the conclusions lo

(@) %ﬁﬁﬁ@énﬁwm%
) et Pt 1 oo e 2

followed by two conclusions numbered I and II.
seem to be at varianc

: e with commonly kn facts,
gically follow(s) from the statements. ¥ known facts

Statements :
* All cars are buses.  All buses are toys. * All toys are gifts.
Conclusions : -
"L All cars are gifts.
II. Some toys are cars. %

i |
(1) Both conclusions I and IT follow. 0 (2) Only conclusion IT follows.

% (4) Only conclusion | follows.
T = & forg smre / SPACE FOR ROUGH work

(8) Neither conclusion I nor I1 follows.

T L
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W7 11/ Part 11
WEATHS AT/ Quantitute Aptitude

T 350 HieT st 37 72 mﬁmﬂwq&%ﬁ 1% firre § g et | gt i s (fier o) e

' O
22 0

~
(1) 1150 (2) 1050 ;-93) 1180 (4) 980
R3S
A 350 m long train running at a speed of 72 km/h crosses a bridge in 1 % minutes. What is the length

of the bridge (in m) ?
(1) 1150 (2) 1050 (3) 1180 (4) 980

ATEHed T 116 Ma kg IR T 1289ﬁkg,m:2:1%a1mﬁﬁaﬁam§|sumaﬁﬁwwuﬁ
kg q9 (T ) Toramm € 2 _
(1) 122 (2) 120 <£3) 126 (4 115

Two types of pulses of rates I 116 per kg q‘ig)gl ¥ 128 per kg are mixed in the ratio of 2 : 1
respectively. What will be the price per kg -(in @of the mixture so formed ?

(1) 122 (2) 120 F‘gs) 126 4) 115

=i
e T T dEaTs F S 66 & ['ﬂﬁﬁnﬁﬁﬁtaﬁaﬂﬁwq@mﬁaﬂaﬂmm%?

(2) 63 (3) 66 (4) 61

(1) 64 '
tive odd numbers is 66. What is the average of the lowest and highest

The average of six consecu
odd numbers out of these ?

(1) 64 (2) 63 (3) 66 (4) 61

TSt 10 foee & 1T 48 km/h £y ey & it 3Tt 16 fire % fT 60 kb &y nifey & T AT ] | T A F

SN 3 afrea T (/b ®) 797 A 2 3
1 551 (2) 54% ga) 56 4) 54
° = utes.

48 km/h for 10 minutes and at a speed of 60 knv/h for the next 15 min
d (in km/h) during th%}vhole journey ?
18

1
1) 55+ @ 54 (3) 56
5

Rajiv travels at a speed of
What was his average spee

(4) 54

<& @Td % feTg STTE / SPACE FOR ROUGH WORK
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JSA-2023/D7 e ‘ o . _%
25 mﬁmﬁ%%ﬁﬁ%mmﬁngmquka-mmﬁm@mmmﬂ,@
U HH E FAA A e 20
(1) 28 (2) 25 (3) 30

(4) 20
Rakesh obtained 25% more marks than Amri?uj and Suresh obtained 40%
o .
Marks obtained by Suresh are what percenfm}éss than marks obtained by
O
(1) 28 (2) 25 M  (3) 30
Jic

less marks than Rakesh.
Ambuj ?

(4) 20

qara,
(1) 979 (2) 975 (3) 982 (4) 972
The largest three-digit number which gives the same remainder 3 when divided by 4,9 6is
1) 979 (2) 975 (3) 982 (4) 972
27. Frefefian & & i fr 2 3w s i e 2
4 . 2 O 5 1
1) -— (2 = N (3 2 ’ =
9 5 o9 13 & 3
O
% 8
Which of the following fraction lies between™S ang 9 ?
4 2 5 1
B = (2) = 3 — S
9 5 13 @ 3
28. M1 UF Ay 15% & 3= | Af ey =g 10% %5 % Gttt 8rar s =y = 2,100 7 ¥ 39 iy 2y
mmzmmmlmwmq@ﬁﬁ)mm?
(1) 30,000 (2) 29.000 (3) 31,500 4 27500

Seema sold a laptop at a profit of 159,

7 2,100 less, she would have gained 20%

N Tice (in ) of the laptop ?
(7o)
(1) 30,000 (2) 29,000 % (3) 31,500 4) 27500
T HHE ¥ oo g E PACE FOR ROUGH WORK
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g9, T T T T I 5 Ry & 1€ AfeThT 1 ST HINTC | . | |
m%wﬁﬁqaﬁﬁw*eg-ﬁA,B,C@Dﬁlzﬁﬁéqﬁmﬁéﬁmﬁmﬁm
AT 2 | N

%
Lo

af > | 2018 | 2019 | 2020 |2021 | 2022
' =

81 78 82 83 80

83 84 80 78 75

70 85 81 65 79

UObdbe?g

78 69 86 89 84

2019 & 2021 T 1@@@%&@@@?@@3@@%@&@%%%?

M C @2 B o @ D 4) A

e8]
O

Study the given table to answer the questionm'lat follows.

The table shows the number of students who appeared in the 12t Board Examination from four
schools A, B, C and D in different years. '

Year —| 2018 | 2019 | 2020 | 2021 | 2022

School

1

A | 8 | 718 | 82 | 83 | 80

B 83 | 84 | 80 | 78 | 75 |
o

C | 70| 8 | 81 | 65 | 79
00

D | 718 | 69 | 86 | 89 X
.

From which school is the total number of sgdents that appeared in 12" Board Examination from
2019 to 2021 the highest ? ”

1 C (2) B (3) D 4) A

——

T& &1 & fTU W% / spacCE FOR ROUGH WORK
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JSA-2023/D7 (14) 5
30. T TR AR ST < oK U 99 F T 1,451-25 B Sl 2 | Af AT T A 2% SAfrm B, Ay 7 27 A,
Brelt | i ot o ity faeeeft 2 9
(1) ¥ 1,350 (2) T1275 (3) ¥ 1,380 (4) T 1,200
o

!‘H
An amount becomes ¥ 1,451-25 in one year on Simple rate of interest. If the rate of interest wag
2% higher, the amount would have been = 27 mor&: What is the amount invested ?

™

(1) 1,350 2) T 1,275 (3) ¥ 1,380 (4) ¥ 1,200
R

81. % 2,400 1 TR 2 7 & werafy s i v Rifve a?waﬁmaq%m?rw ¥ 2,904 B AT € | TR

uﬁwwmﬁrmwawmwwﬁ)wﬁm
(1) 460 (2) 436 (3) 480 (4) 389

A sum of ¥ 2,400 amounts to 2,904 in 2 years at a certain rate of compound interest compounded |
yearly. What will be the simple interest (in %) on the same sum for the same time and the same rate |
of interest ?

(1) 460 (2) 436 @ 480 (4) 389
L

o
2. 4Tk ¥R, o St e o e T 24 TR 3 5 7 o e = v o 10 |
aoht ot o s R - N {

[~ v

@ 30ad ¢

(1) 3699 (2 3499 @) 3799

i
The average age of husband, wife and their child ilI years ago was 24 years and that of the husband
and the child 5 years ago was 19 years. The present age of the wife is !

(1) 36 years (2) 34 years (3) 37 years (4) 30 years
33. a}wﬂaaﬁmaﬂwmﬁ%aﬁw?ﬁﬁ,mﬁgmaunﬁmss%mm,aﬂzaﬁqﬁmgg%
Y o | 3 Ha 1 FooT WA 10,000 of, A 3 FY 51 Jey et oy e o )

(1) 4800 (2) 4400 (3) 5000
“F
In an election between two candidates Abhay andBharti, Abh

-y ay got 55% of the total valid votes, and
20% of the total votes were invalid. If the totalgmumber of votes was 10,000, the number of valid

(4) 4200

votes that Abhay got was : }2
(1) 4800 (2) 4400 & 5000 (4) 4200
T T o fTU W12 / SPACE FOR ROUGH WORK
i s & BN
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B

gy, T 12 TEH! T e arg 8 a2 | A 3 ot ek wge  wfirer € 9 &, 1 e o 1 34 1 ofg 7
et & | T W 1 T STgR! Fi 3iga oy (7 F) frat 2 2

1) 12 (2) 10 (3) 13 4) 9

The average age of 12 boys in a group is 8 years. If 3 more boys join the group, the average is
increased by 1 year. What is the average age g,n years) of the three new boys in the group ?

(1 12 (2) 10 v ) 13 4) 9
35, Frefeifian § & P o den 113 frsa 224
(1) 1987645 (2) 4873524 ‘;,2 (3) 2875944 (4) 3587645
Which one of the following numbers is divisibite by 11 ?
(1) 1987645 (2) 4873524 ; (3) 2875944 (4) 3587645

36. fafsr= a1 W o ofaw =1 F1 = arg-ane | awiian @ | AfE ufem # g =59 T 72,000 @, a1 e i
TR R % 3 (T H) foran 2 2

TS
@lertt
T \40° o
60°~ gaTsdl
50° 30°
110°°X 70°
AT <
O
forem by
w0
=
(1) 30,000 (2) 25,000 P~ (3) 32,000 (4) 22,000

Total expenditure of a family on different heéﬁs is shown in the pie-chart. If total expenditure of the
family is ¥ 72,000, then what is the total expenditure (in ¥) on Education and Entertainment ?

Entertainment
Shopping
Food “¢0° 60° Medicines
50 30°
110° Y 70°
Transportation
Education f:i'
0
J
0
10
(1) 30,000 (2) 25,000 f:! (3) 32,000 (4) 22,000
— =
1 T & U STE / SPACE FOR ROUGH WORK
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37. mqmmm‘w‘m%ﬁﬁq’yﬁm%lmﬁsﬁqm%maﬁramwmﬁ@ﬁﬁﬂm@fuﬁﬁﬁqmI
o | af 3 2 3 o o e, o ot ot e e B
(1) 9o (2 § §
) 85 @) 93 4) 8

Saurabh can complete a piece of work in 20 days. He worked for 5 days and left. Anirudh completed

the remaining work in 12 days. If both of ther%had done the work together, the work would have |
been completed in how many days ?

rJ
1) 9 8 Qg o8
@ 85 13) o5 (4) 8
v324 1 r-_-:
38 =2 8 L e #
J729 3 Je76 2
(1 1 (2) % (3) 2 (4) 0
324 1 169 1
The value of + = — + = is
J729 3 Je76 2
(1) 1 (2) % (3) 2 (4) 0
39, 1+§${12_g${11 41+1$I1=ﬂ={i3"
10 4 5 4 6 15 [¥e)
3 1 &0 8
1) - 2) - a3 — 4 1
The value of :
7 2 .3 1 .2, ,1 1. 4
LA TR | 1= of =+ 4— + — 18:
5 15 of y 14 0 3 6 15
3 1 8
ool 2 - (3 — 4) 1
V- @ < 15

40, Z 6.900F L, M 2 N ofra 6:8:9 % 1T # afer mm ¥ 1 A L i M 9w ¥ T 300, N F g A
L, M 3 N 3 et @1 7 S €
(1) b5:7:11 (2) 3:7:9 (3) 5:7:9 4 3:5:9 |
# 6.900 is divided between L, M and N in the ratio of 6 : 8 : 9. If ‘L’ and ‘M’ each gave ¥ 300 to N’ |
then the new ratio of shares of L, Mand Nis: «

({w]
i (2) 3:7:9 3) 5:7:9 (4) 3:5:9
(1) §5:7:11 ) .

o
% w1d & forg 9E / sn@cs FOR ROUGH WORK

i
e

i
7

W

@

T
S ST
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(17) JSA-2023/D7
W I/ Part 111
AT A&/ General Awareness

frferfia & & F9-a1 Tsa Pt ARt vz foce B 2ed (STARS) Wiede # wmfiet 727 2 2

(1) TH T (2) TRYH

(3) HAicH (4) femmeret S

Which of the following States is not covered under Sﬁrengthemng Teaching-Learning and Results for
States (STARS) Project ? m

(1) Madhya Pradesh (2)gﬂRaJ asthan

(3) Karnataka (4);5!H1machal Pradesh

v % frafefaa § & F-8 T0 § s 2023 F AR oftrrd e g @ @i F1 s e
g ?
(1) U= (2) sffem (3) afHeTg (4) WX

In which of the following States did India host the ‘Hero Asian Champions Trophy’ hockey
tournament in August 2023 ?

(1) Punjab (2) Odisha (3) Tamil Nadu (4) Manipur

T faem Hfifa, 2020 # Sfeerfaa wres=mt aﬁtﬁmﬁmgﬁ%mﬁwﬁiﬁmﬁﬁaﬁq%ﬁgﬁmﬁmw
A 2 2
(1) U=B9¥ 10 (2) AS6d12 (3)@39&12 4) TE6H10

Which of the following grades does the Secondary sf‘aﬁke cover as per the Curricular and Pedagogical
Structure mentioned in the National Education Pohcy‘ 2020 ?

(1) Grades 9to 10 (2) Grades 6 to 12 (3) Grades 9 to 12 (4) Grades 6 to 10

Foetfetfiaa & & fore wed w1 TS ITCATSH HAIT (NAS), 2021 F eI iohel Shoaeh i TerehTia Y 31 0 dian
T o 9

(1) U e feremerdt e deam (NIOS)

(2) Tty ifeen e 3 e I (NIEPA)

(3) i Aty firem €€ (CBSE)

(4) T e SrgEY ST IRIET IREE (NCERT)

Which of the following organizations i8 entruste%with the task of developing the Assessment
Framework of National Achievement Survey (NAS),\2021 ?

"
(1) National Institute of Open Schooling (NIOS) ™~
(2) National Institute of Educational Planning andﬂ.dmuustrauon (NIEPA)

(8) Central Board of Secondary Education (CBSE)
(4) National Council for Educational Research and Training (NCERT)
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(18) |
R 3 Ftfeatia 3 & -8 e ¥ 5 2023 # 2023 wHate 908 FO T A foreT 2

1 I 2) Hog . (@ SRR (4) ITHTAT
L

Which of the following Indian cities hosted t&‘d} ‘2023 Squash World Cup’ in June 2023 ?

(1) Chennai (2) Mumbai ;‘: (3) Ahmedabad (4) Kolkata

I
v 5
ﬁnﬁﬁaﬁ&ﬁmmﬁmﬁqﬁn@m@&) F q SR 2017 - 18 T T 2020

- 21 T T ay |
e s el s E
1) e (2) dftrerrg (3) JeHTHT (4) HERTSZ |
’?V‘mch among the following Stateg has seen a steady increase every year from 2017 - 18 to 2020 - 21 E
in the overall scoreg of Performance Grading Index (PGI) ? :

(1) Chhattisgarh (2) Tamil Nady (3) Telangana (4) Maharashtra

India’s first successful nuclear bomb

India’s launch of the first satellite into space

India’s counter insurgency operation againgt China in 1962
T

s

(1) ¥k W '
2) RISy wray

@) fva ¥
Skill Acqui W A
cquisition and Knowledge Awareness f, iveli

or Livelihood Pr.

development, Programme in Indig assisted by which of the following??momon {SANKALP) ® a skill
(1) SAARC : -'
(2} i i i

(3 World Bang International Labour Organization e |
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g e e ;
49, VI ¥ ST TFT 2022 — 23 F STTAR, A 2021 _ 22 ¥ forq Iuery e HHtwST % SHAN wpel (e F
o T T Tl el AT ST w AAfirn 0

(1) 3= WU (2) wrufhe (3) e (4) f-eper

According to the Economic Survey of India 2022 — 23, the School Gross Enrolment Ratio is the
highest at which level of schooling as per the latest data available for the year 2021 -227

(1) Upper primary  (2) Primary (3) Secondary ~ (4) Pre-school

50. mﬁﬁgﬁmw(wmmogaﬁ‘uﬁ%?ﬁmﬂmmn’mw%%m
fopam a2 5

<
(1) ATAR § (2) et Fage A f& e whe

3) faaamse e \O (4 & ferdhe forerd

Which of the following was awarded the ‘E,B_'st International Feature Film’ at the 95" Academy
Awards 2023 ? H

(1) TAR (2) All Quiet on the Western Front

(3) The Quiet Girl (4) The Elephant Whisperers

51, FreAferiae o & o 3 & & 2023 %1 IGH fEnTToT TR ford waT forar a2

(1) GH FHeIoL (2) aft SR (3) THTH. FM (4) ST g
Who among the following was awarded the Padma Vibhushan 2023 in the field of Art ?

(1) Suman Kalyanpur (2) Vani Jairam E (3) S.M. Krishna (4) Zakir Hussain
~
cO - :
52, ﬁq%f@ﬁﬁﬁﬁﬁqug%‘aﬁm‘aﬁt‘qﬁ’mﬂgm‘?ﬁﬁﬂwﬁﬁﬂﬂﬁwﬁmﬁﬁ?ﬁﬁﬁﬁﬂ?ﬁ?ﬁ
T W@ TATE 7 i
1) =@ (2) weeatd # (3 wE (4) TEE

(-

Which of the following planets has moons called ‘Ophelia’ and ‘Puck’ which have been named after

characters from William Shakespeare’s works ?

(1) Pluto (2) Jupiter (3) Mars (4) Uranus
. 473t sl derer faw oo HRE 3) w3 for 7 feeeh & § wh decrre wfser wred
S foper T | g e 3 SierRTSg T Foe v o o 2
1) wfir, FH, S (@ wf, B, fewdt
3) n@mg@qﬁ%ﬁ@aﬂiﬂw (4) wifsasd AR

An International Museum Expo was organised in May in New Delhi to celebrate the
47th International Museum Day. What is the me of the International Museum Day for this year ?

(1) ‘Museums, Memory, Welfare’
(3) ‘Museums, Sustainability, and Well Being

17368264

(2) ‘Museums, Heritage, History’

&

(4) ‘Museums are History'
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54. Ut fRven fifd (NEP) 2020 3 awamaum # fomfea v s @ w1 a9 qresimn Shaadh (NCF) # frerfrfias 3 '

55.

. Choose the correct answer from the codes given below :

T FHH-A/HH-E e 28 2

A, = R fqu NCF

B. rifye aeasTe S@wTe 31 firen & fg NCF
C. 3reatfenss e & fow NCF

D. =raETta e & fow NCF

e o T e & wet s = A

(1) SHadTA3NRB (2) FHAAC I D (3) FAAA, BINC (4) FIAA

Which of the following is/are among the four National Curriculum Frameworks (NCF) being
developed under the aegis of NEP 2020 ?

A. NCF for School Education

B. NCEF for Early Childhood Care and Education
C. NCEF for Spiritual Education

D. NCF for Vocational Education

!.
[
b
i

#17368264

#17368264

Choose the correct answer from the codes given below :

(1) Only Aand B (2) OnlyC and D (3) OnlyA,BandC (4) OnlyA

frferfiga s o famm s :

A. ¥ wreta it it S et s i fegwar €1

B. ngmﬁﬁmmmgﬁaaﬁ%ﬁmeﬂEﬁﬁmt@?ﬁ%iw
o fow 7 e & w3 BT A A : 5
(1). ARBIARTTEE (2) AW%%BH’&?%E
3) THATARIRAAB 4) AThfgBemE

Consider the following statements :
A. The two main genres of Indian classical music are Carnatic and Hindustani.

B. The Bharat Ratna awardee M.S. Subbulakshmi belongs to the genre of Hindustani music.

(1) Both A and B are correct (2) Ais wrong but B is correct

(3) Neither A nor B is correct (4) Ais correct but B is wrong
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dor & A H FEfefiad 3 @ F-avand s ad 23 0
A, foreft |ae & =T i O qte & T R s awar |
B. W(ﬁ%mﬁaﬁmmﬁm%i

M
56.

¢ whuh gy O
F fw U e & T I F1 7 Fifvr - g
(1) ¥ B HATCEEE (D(2) FaaAsRCHAL
(3) FadA BHA R '4;(4) Fact A s BERE

Which of the following statements is/are correct about friction ?
A. Friction can be entirely eliminated on any surface.

B. Rolling reduces friction.

C. Sliding friction is smaller than the rolling friction.

Choose the correct answer from the codes given below :

(1) Only B and C are correct (2) Only A and C are correct

(3) Only B is correct - (4) Only A and B are correct

6. ~W‘mﬁ%ﬁmmﬁmﬁamd@§@ﬁwﬁ)%ﬂm%?
(1) 7°CH®17°C (2) 17°CH 24°C g(s) 7°CH FH (4) 24°C § 3tfe=
What is the mean annual average tempera@‘e (in degrees Celsius) in ‘Temperate’ vegetation

zones ? H:
(1) 7°Cto 17°C (2) 17°Cto 24°C (3) Below 7°C (4) Above 24°C

8. Pl § & ieeiy wamEwEee MEs 2023 ¥ oo 7 ¥ fei foava it vl st Agrrfirrer afrdi
v T e, S S e e W et e it sriy < § it o, % freg o e

TS I ST ?
(1) JWAELEA (2) fomr faereme

(3) ST PR HFTH (4) =1 foewq

Who among the following is the winner of %23 ‘Goldman Environmental Prize’ for winning a
landmark case against ‘Formosa Plastics’, one 6fthe world’s largest petrochemical companies, for the

illegal dumping of toxic plastics waste on Te o ulf Coast ?
f~(2) Delima Silalahi

(1) Tero Mustonen —
41:(4) Diane Wilson

(3) Alessandra Korap Munduruku
aﬁazozg,ﬁamﬁné‘émmaw,zozgﬁﬁé*%m@w,aﬂtmmm@m‘ # 9d # FA
AT fopeT sifereral & 2

D 60% (2) 50% 3) 70% (4) 40%

As per the ‘Status of Tigers, 2022 Report’ released in April 2023, what percentage of the total world
; > i ?

Wild tiger population does India account for *

1) 609% (2) 50% (3) 70% (4) 40%
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60. ST i T S Bt & |

61.

62.

63.

(1) 3,00,000 nvs (2) 30,00,000 km/s

(3)  30,00,000 m/s

(4) 3,00,000 km/s
Speed of light j !
p ight is about 0
(!
(1) 3,00,000 m/s %) 30,00,000 km/s
"
(3) 30,00,000 m/s &;) 3,00,000 km/s
i
Frefafee & & s T ATt e 2 9
(1) drae, (2) diferefig (3) TEH (4) HemTsy
Which of the following is a thermosetting plastic ?
<r
(1) PVC (2) Polythene l&@) Nylon (4) Melamine

- \0
IR 3 30 T8 o e 41 1 A3 s e

Lo
(1) v 2) Prermr ) g (4) FETEmETR

Which Indian city was earlier referred to as the ‘Manchester of India’ ?

(1) Patna (2) Kolkata (3) Chennai (4) Ahmedabag

ﬁrm%ﬁgaﬁ@rﬁwﬁawirmsﬁmsﬂﬁmffﬂn 2023$rﬁ§a1aaﬁm'?

(1) TGS g TRz }5;}2) =13 gt fohrer

Which of the following teams won the Tata Indi

}&g} TSR 2T5eH

Hﬁ Premier League 2023 title ?

(1) Lucknow Super Giants (2) Chennai Super Kings

(3)  Mumbai Indians (4) Gujarat Titans

i e i

&5

i T G T M S

|
3.
|
}
?
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eomen § 2 TR0 T w v § 4% e 9 3 B F 0 F1 999 T 8 9 wE e 7,

e

s=FaAAr SR FY B INE FAT 20 ~
- ¥,

5T > TEEE S T = (g B TEE S T
3, TEEE S AEEE o e —  (4) TEEE > GEmE > FEE

Wwhich of the following options depict the correct chronology in which the States given below were
created in independent India, starting from the State created first to the last ?

1) Tripura - Jharkhand - Nagaland (2) Tripura - Nagaland > Meghalaya
3, Meghalaya > Nagaland & Mizoram (4) Meghalaya - Mizoram - Jharkhand

ST HEAE % SER ANEEE #9000 BT 6 eeies § 9 .81 90 A9E FeiEa 981 a0
L -
I5s)

6

1) HOH F [AuzNEig F 959 3 90E0

3

73

-~ - = . - ~ -
2) SHia4a=® FH 02 g =] agdl

|

3 =F 9grE4 ® F9E E wEe S aEEal

Which of the following Fundamental Rights is not suspended when a Proclamation of Emergency is
in operation according to the Indian Constitution ?

1) Protection in respect of conviction for offences
2) Freedom to assemble peaceably and wit_irut arms

'3) Equality of opportunity in matters of P‘i%lic employment

'4) Freedom of speech and expression ::":'
WA Sz s T F eEE A 92
) FIum FgEEE (2) TH gL Sifear

YR —— (4) drat fif

Who was the founder of the ‘Independent Labour Party’in India ?

1) BR (2) Ram Manohar Lohia

f?U Ja}vaprakash Naraj’a.ﬂ (4) V.V.Giri

2k ‘> o AN .‘,___.". & caiiscal 5,$
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67. mqmmaﬁﬁaﬁmﬁf@ﬁﬁ%iﬁawwﬁga?ﬁﬂﬁ'%?

-

(1) FEs= (2) 9= (3) mr 4 F=

Whi . .
'hich of the following rivers in the world does not have a single bridge across it ?

(1)

Amazon (2) Thames (3) Negro 4) Nile

| 3

68, Pt 53 i s5

ﬁﬁ%ﬁ@nm-maﬁtm‘ﬂwaﬁéﬁmm%?

(1 difgas 2
(2) IEr (23 ‘T"’@'ﬁ ==
3: "‘!_\'! (4) =0

Which of the fo}lovm:lg places is zf

69. Wﬂ%#ﬂrﬁﬁmﬁrﬁﬁ g RS

(3} l'\q\'-E — b, - Lo Y oy Sy [
SIS 98 7 90 OF 2 6 s aig @) T I = (e
. = (9 35,

Which of the following images duringthe French
(1) The eye within a triangle
(3) A snake biting its tail to form a ring

N

™
Rggolution stood for the Symbol of Fierpire 2
[ € r = i Y :
2E The broken chain )

70. Trfofes &8 Sy -
1 HT3H g =5y Rk 2
e : T SR ol S i & e gy s
1) 7 IR o |
(2) ¥ I e Ry v
3) o frmm wif gy F
(4)  TETE Fr=H gy |
. ‘:E;‘
Which of the following ¢ ¥,

A : rganizations is s )
Information which eventually led { associaled with the people’s mon
v led to the €nactment$f the Right ¢ § Mmovement for Right &
% ght to Informatien gt »

(1) Jan Adhikar Morcha

— 1

(2)  People’s Union for Civil Liberties :.,
(3) Mazdoor Kisan Shakti Sangathan
4} Safai Karamchay Sabha
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- 9 IV/Part IV
WTST FeTHAT qiterur (AT HUS)

Language Competency Test (General English)

Read the passage given below and answer the questions (71 - 75) that follow :

Dadi had come to the hospital for operatig for an eye ailment. The operation had gone well and
she was on the road to recovery. On the day @the expected discharge, when Tanuja’s mother came
to the hospital to complete the formalities aqm take her home, she was accosted by some hospital
inmates at the gate who told her, ‘Where hav;;ou been all this time ? Your old mother slipped from
her bed at night and broke her hip bone.” Tanuja’s mother rushed in to provide succour to her

mother. After emergency treatment, Dadi was shifted to the orthopaedic ward. A complicated

surgery followed which necessitated her stay in the hospital for six weeks for convalescence. In the

hospital, she was looked after by Tanuja and Machhli during the day, while Tanuja’s mother stayed
with her during the night. After a few days, when Machhli found Tanuja’s mother overworked as she
had to take care of her home too, she oﬂ‘ered@ do the night shift too. Machhli’s devoted service for

Dadi’s recovery brought her closer to Dadi ant%er family.

Over the years, Machhli had served manj, many patients but there was something so affectionate,
i

so endearing in Dadi that brought Machhli clese to her. Machhli could not help recalling that in her

village home too, she had a grandmother who resembled Dadi in many ways, including the way Dadi

showered affection on all those who came in contact with her. In the hospital, Dadi showered affection

on doctors, nurses, attendants, in fact, on all those who touched her life even in oblique ways. The

hospital personnel too called her Dadi and gave her due respect and regard.

1. What unfortunate thing had happened to [@ii 7

(1) She had fainted unexpectedly-
d on the roadside.

(2) She had broken her hip bone.

(3) She had stumble (4) She had suffered a heart attack.
e had s

#173682

; 9

. What does ‘convalescence mean _ .
(1) showing no signs of recovery (2) getting weaker day by day
(4) improvement in health condition

(3) feeling depressed
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73.

4.

75.

76.

1.

78.

(26)
State which of the following statements is true/false.

A, The hospital personnel treated Dadi with contempt.

~

B. Dadi was affectionate towards everyone,

(1) “A’is true but ‘B’ is false. «2) Both ‘A’ and ‘B’ are false.
LE)
EA) Both ‘A’ and ‘B’ are true.
(i
"

[
How does Machhli come out as a person in the passage ?

b

(3) ‘A’is false but ‘B’ is true.

(1) friendly and devoted (2) cold and uncaring
(3) thoughtless and frivolous (4) vain and arrogant

The tone of the Passage is :

(1) narrative (2) discursive (3) argumentative (4) reflective

b i
In the given sentence, identify the part which coﬂf.ams an error,

It seems that / he hasn’ t met you / for a long tlmeE isit?

a b c F? d .
(1) e 2 b j(‘{;.) i 5, 2
Choose the word opposite in meaning to the given word -
MODESTY
(1) Arrogance (2) Meekness (3) Violence (@) Anger
Rearrange the parts in correct order to make a ml@pmngful sentence :
il

A. and finally caught him :41]

L)
B. while he was jumping onto : I
C. they ran after the thief 'ri!
D. a speeding bus
(1) BCDA (2) CABD @ aen o
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(27) JSA-2023/D7

Choose the correct meaning of the idiom/phrase given below :

be down with

(1) being humiliated (2) coming from a poor background
(3) biding one’s time - (4) suffering from an ailment
Xs)
o
Choose the word nearest in meaning to the gi\{r_%} word :
MELANCHOLIC ~
=
(1) Serious (2) Jubilant £ (3) Sad (4) Frustrated

Fill in the blank with the appropriate Article.

We should always take care of poor.
(1) the (2) an (3) No article (4) a

Choose the best option in which the given se%ence has been changed from Active Voice to Passive

. ~J
Voice. )
Ilost my watch in the rural fair. : ‘.‘g
re
(1) In the rural fair, I lost my watch. ~i (2) My watch was lost in the rural fair.
e
(3) My watch is lost in the rural fair. (4) My watch has been lost in the rural fair.

Fill in the blank with the appropriate form of the Verb that agrees with the Subject.

Each one of the workers a raise in salary from the coming month.

(1) are wanting (2) wants (3) have wanted (4) want

Choose the option which correctly identifies th@}tense of the underlined part in the given sentence.
Aren’t they going to meet you soon ? fé
(1) Past Continuous Tense ¢+ (2) Present Continuous Tense

(3) Simple Future Tense -4 (4) Simple Present Tense
H

Fill in the blank by choosing the correct form of the Verb.

By the time I met him, he — —— reading the voluminous novel.
€ time 1 me ’

1) finishi (2) had finished (3) will finish (4) finished
was finishing
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(28) ‘
9T IV/Part IV %‘
T werw wfteron (WA fdt) %’IZ
Language Competency Test (General Hindi) :
L0
ﬁ”%%awmaﬁ o

. memmam@ﬁ(ss-ss)%mma&&q-

&8 T 3 " |
——— %ﬁmmﬁérﬁmﬁ q&ﬁﬁr&ameﬂm‘%%é‘mw%
e W@Fﬁ wﬁmﬁlﬁm@rsﬂ‘ﬁmﬁﬁmtﬂm%%w%ﬁrwﬁmg%@:h
%:%ﬁmmﬁ?wwaﬁlwﬁmﬁ%mm%mﬁmmﬁ%w
— zﬁﬂ;{ 18#3*1?31%@@@.&“213&@@%,%%% *’f

3”'"%%%%%“%%%, s

@ A g "‘““@Twﬁﬂﬂwjtl
(3) %%Mﬁmgr :Lj
@ AT I | | ?\5}

jﬁ.i

87 STt S 3 R ey
—
(1) ﬁmﬁaﬂgﬁ%zﬁr%, e
2 ot e g
3) sﬁgﬁmﬁtﬂ'fﬁﬁma}%l

A ey

(4) A By |
88, ﬁmﬁ;mvﬁmﬁﬁwqmw?
(D aﬂ-qa:ﬁ-ma_r%ql ?
®) S 1 S ey o
BICEI S 5
4) Wm%mmﬁql Wqﬁ'ﬁﬁ%q{whwl

89, &WQWW%%W.W%W‘ A
(1 Qﬁauw;ﬁaqmmml '
@ Wﬁm%mmﬁqﬁwﬁ'
3) W%Mﬁwﬁ|
@ Ty R dr g
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_5 28) JSA-2023/D7 |
90_ ﬁﬂ%@ﬁﬁﬁﬁ?—mﬁmgﬁm%? " |

(1 aﬁﬁ@wmﬁmﬁ'}lw_mﬁaﬁ (2) Wﬁ@mﬁﬁﬁﬁﬁﬂﬁ—m
(3 q@a@ﬁ@aﬁﬂmﬁm_qﬁ]ﬁ (4) mﬁ@mwﬁmﬁﬁm—ﬂﬁm

g TG [ETaL T TN 7o R -
(1) SR FHH HAT (2) T H e AT
(3) T H9 7 e s @ agof 7 gU-IUT gHAT
| 1
, freaferfiad 9t 4 & wefr 1wt R
(1) T (2) Tfeeft ?_prf 3 I . (4) Fmmt
—
. Fr=fofiaa # @ @ dfer aren s 71 2 - He
(1) 389 (2) STy (3) TgEHR (4) THTER
94, “fI9T g1 W 7 ST Ufeh | SRR R :
1) w9F (2) I9ET (3) I&m 4) =
95, fefofaa § @ sE IR
(1) o€ g&s 8 T 2 | 3 @ o el & wd &
(3) =g i« | N @ FonfanfaEmE
8
6. T F A SWE IR ™
(1) wearEd (2) I9AET g (3 IEdA (4) V=
. 3T syl @) ST AT SRR T FreEd B 8 H I E !
(1) ores oy ¥l =0 T & (2) HHT AT HEAT TTEY |
(3) T GHH AT AT1ET (4) HOR ORI TR © f
8. Tereltepa ea d AT R : i |
(1)  wHHurE (2) e 3) &% (4) 3gvE
T |
X |
. Frerferfiae & fa wiftr arem w12 78T € - iy | 4
1) gwim (2) fara H @ (4 Frram |
. Prefirfgn # & o P R W R |
(1) Gﬂ'ﬁa—flﬁ (2) a9 - 3fta
(3) aﬁa_m (4) fﬁ?—m
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um V/l’nrt. \
HEET WEUTHA &1 TR AT/ Basic Km.wlcdgo of Computer Operation

101. Mmm&aqa;mmmﬁmwmﬁﬁqﬁm: i TrgE S Hr S AT A

A ¥ o fran s e s @ 9 8

"
(1) $e 9% (Format Painter) ‘:_T“ZJ itz w2yer (Format Stamp)
) wEe T4 (Format Move) #4] HiHE (Format Copy)

is used to quickly apply the same formatting, such as colour, font style and size, or border
style, to multiple pieces of text or graphics.

(1) Format Painter (2) Format Stamp

(3) Format Move (4) Format Copy

102. Wﬁwmwwﬁqéﬁﬁmw@%la@nﬁﬁgﬁﬁ&ﬁmw%aﬁﬁﬁmﬂﬁmmﬁu

(1) Nmféﬂﬁﬁ'q(Operatmg System) %2) FT T (Camera Pixels)

(3) éﬂﬁzﬁé(Ethernet Port) N&L) mﬁfﬂﬁﬂnternal Memory)
=

Tarunji Sen is planning to buy a new smartphol::il:g. Which one of the foll

owing aspects should he not
be bothered about ?

(1) Operating System (2) Camera Pixels

(3) Ethernet Port (4) Internal Memory

103. Fferfad & & #1981 VoIP %1 wet qof wq 3 2

(1) Voice over Internet Protocol %2) Voice on Internet Protocol

%) Video over Internet Protocol
Which out of the following is the correct full fon:F@fVo[P ?

(3) Voice over Internetwork Protocol

(1) Voice over Internet Protocol 1;2 ) Voice on Internet Protocol

(3) Voice over Internetwork Protocol (4) Video over Internet Protoco]
0co

104. ﬁm%f@aﬁﬁm-mwmwﬁmm&nm%?

(1) .mp4 (2) .avi (3) .pdt 7
Which out of following is not a file extension of a video file ?
(1) .mp4 (2) .avi (3) .pdf
(4) Moy
4 { { | i
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R RREH (Operating System) forget v e & 2
) WW (Utility Software) &1
(2) ST S (Language Processor) %
3 fo=m HHRAH (System Software) &7
(4) OfcTehT Hiwaa (Application Software)

An Operating System is an example of :

(1) Utility Software

105-

(2) Language Processor

#1736826%4

(3) System Software
(4) Application Software

106, ST H foreRfia elsem Guiehrget  ;
(1) 3RME (ARYABHATTA)
(2) 9 (PARAM)
(3) fowmeT (VISHAL)
(4) ¥&(BUDDHA)
The first supercomputer developed in India is
(1) ARYABHATTA
(2) PARAM
(3) VISHAL
(4) BUDDHA

- #17368264

107, frfirfge & & FH-AT1 7 ot (IP) T8 F T 3 T T R ?

(1) 202.54.256.30
(2) 10.10.10.120
(3) 25.16.25.100
(4) 198.168.30.9

7368264

+ an example OfIP Address ?

Which out of the following i 0
(1) 202.54.256.30
(2) 10.10.10.120
(3) 25.16.25.100
(4) 198.168.30.9
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JSA-2023/D7 (32)
108. Wﬁwwm%m@ﬁwm&ﬂaﬁmﬁﬁammﬁ@éﬁ??

(i_—) Slide Transitions

o

{t% Slide Movements

(5D

are the visual effects which appear in PO\{{Q‘Point when one slide moves to next.

(1) Slide Effects

(3) Slide Frames

: Uk
(1) Slide Effects (2) Slide Transitions

(3) Slide Frames (4) Slide Movements

109. ﬁmﬁwﬁ%ﬁmﬁ@aﬁmaﬁﬁmm%mﬁﬁﬁﬁaﬁﬁ%ﬁmﬁ-ﬁﬁaﬁmwmﬁmm

(1) Ctrl+P @2) Alt +C
o
(3) Ctrl+Y ‘5_;4) Ctrl + C

: b e ™1
Which out of the following is the combination of feys used to copy a selected text in word ‘processing
i

software ? 3
(1) Ctrl+P (2) Alt+C
(3) Ctrl+Y (4) Ctrl+C

110. FHferfes 3 & TCP %1 Wl qof ww A2

(1) Transmission Central Protocol

(2) Transportation Control Protocol

(3) Transport Control Protocol

(4) Transmission Control Protocol

#1TIILODEC 4

Which out of the following is the correct fu]] form of TCP ?
(1) Transmission Central Protocol

(2) Transportation Control Protocol

(8) Transport Control Protocol

(4) Transmission Control Protocol
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112.

(3) HDMI Splitter 0
0
; k)
o . .
113, ﬁmﬁﬁaﬁﬁﬂﬂﬂmﬁigﬁﬁﬁﬁaﬁﬁﬁ%ﬁmﬁ@ﬂmmmmm%mwﬁm
JugRd €I ? i1
(1) HDMI (25 PS2 (3) VGA (4) USB
Quality

114,

LR SR ————
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(83) JSA-2023/D7 |

1 tiff gy &
l @) jpg (3) .png (4) .wav
Which of the following is not a file extension of an image file ?

(1) tiff (2) .jpg (3) .png (4) .wav
2 &)
Wm@@ﬁmm%@miwﬁwmﬂmﬁmﬁmﬁ 24 FFILY

e F AT TR R | ﬁwﬁ%qﬁm%@aﬁ‘@%&mmgﬁnmaﬁq?
(1) et (Repeater) '”'(2) & (Switch)

(3) TS uH N firet (HDMI Splitter) (4) =X (Booster)

ct 24 computers in his office using Ethernet Cable as part

hould he use for the same ?

Gafoor Shanty is planning to conne of a

Local Area Network. Which one of the following devices s

(1) Repeater (2) Switch

4 Booster

—_— ¢ of the following ports will be most suitable for connecting High
ich out ©

?
Audio-Video output on 2 PC/laptop

(1) HDMI (2) PS2 (3) VGA (4) USB

c?

W)

e AAHE @gzn(RDBMS}wWaa?%?

P & -8 T R @

3

L Server (3) IBM DB2 (4) MySQL
(1) MS Excel () MSSQ 2
tabase Management System

Whi ¢ the following .s nof an example of a Relational Da
ich out of the
(RDBMS) ?

9) MS gQL Server (3) IBM DB2 @) MySQL
(1) MS Excel (
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JSA-2023/D7 (34)

=

115. https ¥ ‘s’ &1 T 3} & 9
(1) Stream (2) Security
(3) Space (4) Secure

What does ‘s’ stand for in https ?

w

(1) Stream ‘“-;-“" i
l?(2) Security
)

(3) Space i(3(4) Secure
(Ra]

s

et
116. frforien 3 & fard e arre 3w i ooh g s s w2 2
(1) srecfier afie s R 7t e e T
(2) el oirew & 78 2 e o <ivtt et
(3)  fohell % STete S sTarse 3 AT T 39 aat & o St T
(4) e Hifear wew w Rt g 2y
Which out of the following cannot be reported as Cyber Crime ?
(1) Sharing of pornographic content online %

(2) Theft of a brand new hard disk from a shqcxfg;}room

o @
(3) Entering into someone’s online bank accngt and transferring money from there

(4) Threatening someone on social media plat%rm

117. T O TR 3 Ot 49 3 o i reforfaa & @ #ar o 2 9
(1) ¥4l % €U (Collection of values)
(2) BT FTEHIET (Collection of formulae)
(3) 3T (SATFIITSS) B T HTLI (Collection of occupied cells)
(4) ?ﬁ T | T WTFVI (Collection of chosen c%)

™
Which out of the following is true about cel] I‘al'{lge in MS Excel ?

(1) Collection of values F:f
v
(2) Collection of formulae I

(8) Collection of occupied cells

4) | Collection of chosen cells
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(35) JSA

(1 -pwpt (2) .pdocx :33
O']
Which out of the following is the extension of MS PowerPoint file ?

(3) .ppoint (4) .pptx

(1) .pwpt (2) .pdoex (3) .ppoint (4) .pptx

freferfiad H € HH-91 U TR iee o1 vel $5el TWEeyE € 2
1) .xcl (2) xlsx (3) .xelx (4) .excel

Which out of the following is the correct file extension of an Excel file ?

x

xcel
(1) xcl (2) xlsx 3 xelx (4) .exce

v
[ - .
mmwaﬁmmﬁmwmm{mm%mmﬁmw%@@mﬁm
m%mﬁ%mmﬂammﬁ%%ﬁﬁmﬁmwwaﬁ?
(1) TS (Writer) (2) & (Cale)

(3) ETATEE (PowerPoint) (4) 3999 (Impress)

d in making a digital presentation for marketing his company’s new

Shangle is intereste .
Mohak g e Software. Which of the following software will you suggest for the

product using an Open Sourc

same ? :}:
{ 4 (2) Cale -
(1) Writer g
FL} (4) Impress
(3) PowerPoint T
H:
?
maiza%ﬂﬁ?ﬂaﬁﬁbpsﬂlﬁmwé

(2) bytes per second

(1) bits per system
e (4) bits per second

(3) bytes per system -
u .

] form of bps . terms of comP
What is the full 10 (2) bytes per second

; m
(1) bits per syste (4) bits per second

(3) bytes per system

S

e T

b
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JSA-2023/D7 (36) <r %
122. HHfARad § & Fia-ar s fren #1 U 38R0 wa?m?
(1)  STE99 (Linux) (2}?1@ uy faes (MS Windows)
(e
(3) IS $RR®T™ (Mozilla Firefox) (4):‘:% 31 TH (MacOS)

Which out of the following is not an example of Operating System ?

(1) Linux (2) MS Windows

(3) Mozilla Firefox (4) MacOS

123, Tferfaa § & S -e st ddtamae wived e fa w0 % e 78 s st 2 2

(1) HIH (McAfee) (2t (Tally)

(3) FEqTEHTS (Kaspersky) (4%%@? (Norton)

Which out of the following companies are not knowq‘;&or developing Antivirus software ?
(1) McAfee (2);1-:Tally

(3) Kaspersky (4) Norton

124. Fefeifaa & & F9-a1 0 92 feamsa (svamm) 781 22

(1) SR (Joystick) (2) AT (Plotter)
(3) @N&IE TN (Barcode Scanner) (4) =g (Touchpad)
Which out of the following is not an input device ? «
(1) Joystick (2§Plotter
(3) Barcode Scanner (4£Tuuchpad
v
H
125. frefefiaa 3 @ HA- v o< au seE & 2
(1) THTETEE (Exabyte) (2) HIETHTEE (Petabyte)
(3) TMhTTETEE (Gigabyte) (4) TSR (Kilobyte)
Which out of the following is the largest memory unit ?
(1) Exabyte (2) Petabyte
(3) Gigabyte (4) Kilobyte
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(37) JSA-2023/D7

7T @S U e ¥ w0 § WS fatd e @ @ ofi g e, i afén sit wrnfem 1 farar A s
& ST B AT TR B 38 2SR ) g & | g fory Freferfian 3 @ -6 A IR F 2
(1) e (Notepad) <+ (2 ¥ (Calo)

kf')
(3) WhiaZ {=T (Acrobat Reader) (4) THTETE (MS Word)

™
e8]
o

: . : i ) )
Eena Khande is creating her project reportras a document and is interested in typing the same in an
Which out of the

easy-to-use software with facility of formaﬁﬁing, page setting and styling features.

following software will be ideal for the same ?

(1) Notepad (2) Cale

(3) Acrobat Reader (4) MS Word

@ﬁa@a%aﬁﬁﬁmﬁ%ﬁﬁwéﬁﬁ%?
(1) e ue § w T g =Ry 2
o ST () dRa TR E o
) S gt i £ A e o2
@ SagaimeREadnaRy

Which of the following in not valid about an email address ?

(1) Email Address cannot have space in it

(2) Email Address can have multiple dot (.) operators

(3) Email Address can have any number of @ symbols

e @ symbol
=
0
.

Pﬁtﬁq\(cpumqgfmw%? @

(1) Central Primary Unit gr*? (2) Central Process Unit

v

{4 (4) Central Processing Unit

(4) Email Address should have on

(3) Center Processing Unit

What is the full form of cpPU?
(1) Central Primary Unit (2) Central Process Unit
(3) Center Processing Unit (4) Central Processing Unit
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JSA-2023/D7 (38)
129. Frfeiflea & & #-ar HTTP Fwd i ww R 2

(1) HyperText Transfer Protocol (2) Higher Text Transfer Protocol
(3) HyperText Transmission Protocol (4) Hyper Transfer Text Protocol
Which of the following is the correct full form of HTTP ?

(1) HyperText Transfer Protocol \}()2) Higher Text Transfer Protocol

(3) HyperText Transmission Protocol ::;(54) Hyper Transfer Text Protocol
(B

£y
™~
M

o,

130. ﬁn%f@aﬁ@raﬂq-mﬂza%w(smmﬁahﬁﬁ;ﬁhm%?

LN

=
@ o o

(1)

Iz
[ [Ib
Bt

A&

\

B T D &

(3)

l’\.' ) ) |
™
4

4

Which out of the following represents STAR topology of Networlk ?

o
e
74 L=

0
N

-

e

(3) Al
oy

(1)

.
-
>,
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